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ee2 hit pos from data

signal_gem_hit_pos_ee?2

_ signal_gem_hit_pos_ee2
| Entries 3543262
— Mean x -0.2983 )
— Mean y 0.4018
| RMS x 97.02
| RMS y 99.35 )
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10 sub_vertexz_gem

- Entries 1798142
E_ Mean -0.5319
- RMS 37.81
= 2 / ndf 496.8/13
- Prob 0
= Constant 1.734e+05 = 1.8056+02
E_ Mean -0.6299 + 0.0224
:_ Sigma 25.49 = 0.02
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ee2 hit pos from data

signal_gem_hit_pos_ee?2

signal_gem_hit_pos_ee2
- Entries 605436
200 — . el o o Mean x -0.4772
— ;gfﬁé#‘. R s, T Mean y 1.053 [
150 — ‘f}?x:.. s £ RS RMS x 60.36
= e e oL f B W, |RMSy 117.8
100 — R L L 1 R b
E T
50—
—  Also remove clusters with single 10
0 —  wire and overflow
-50 —
-100—
= 1
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-200 —
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signal_vertexz_gem

sub_vertexz_gem

- Entries 306813
- Mean 0.9499
- RMS 35.59
E ¥2 I ndf 58.44 /12
[ Prob 4.342¢-08
E Constant 3.039e+04 + 7.715e+01
- Mean 0.2429 + 0.0547
— Sigma 24.86 + 0.05
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vertexz_gem

3
x10 vertexz_gem
250— Entries 795034
B Mean 2.054
200 — RMS 32.11
| x2 | ndf 499.3/13
— Prob 0
150—
B Constant 2.609e+05 = 2.281e+02
B Mean 0.9908 + 0.0162
100— .
| Sigma 22.46 = 0.01
50—
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